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Please check that this question paper contains 8 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 28 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this
period.
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General Instructions :

(i)  This question paper consists of four Sections A, B, C and D. Section A contains
7 questions of 1 mark each. Section B contains 8 questions of 2 marks each.
Section C contains 9 questions of 3 marks each and Section D contains
4 questions of 5 marks each.

(ii)  All questions are compulsory.

(iii) There is no overall choice. However, an internal choice has been provided in
one question of 2 marks, one question of 3 marks and all the four questions of
5 marks weightage. Attempt only one of the choices in such questions.

(iv) Questions number 1 to 7 are to be answered in one word or one sentence each.

(v)  Questions number 8 to 15 are to be answered in approximately 20-30 words
each.

(vi) Questions number 16 to 24 are to be answered in approximately 30-50 words
each.

(vii) Question number 25 to 28 are to be answered in approximately 80-120 words

each.

(viii) Where only diagrams are asked word limit does not apply.
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Mention the factors responsible for the accuracy of any cutting system. (Any two)
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“Primitive men protected their body against the extremities of climate by using
materials available locally.” Name the materials used by them.
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How can we give a cowboy or peasant look in trendy clothes ? Name any four trims.
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Why is bias-skip used for finishing curved edges ? Give reason.
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What kind of fabric is used for test fitting ?
it W fore o6t S e R S g v 1
Why are trims applied on garments ?
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Differentiate between ‘open peplos’ and ‘closed peplos’.
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What was the difference in the way the basic Egyptian garment was worn by the king
and commoners.
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Give the causes for the following fitting problems :
(a) Garment rides up in front.

(b) Horizontal wrinkles around the arm.

(c) Bubble at the dart tip.

(d) Armscye is snug and uncomfortable.
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What measures influence on children’s wear ?
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What kind of interfacing is used in cuffs and why ?
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In a bodice block, state the positions of flange and French dart.

OR

Define the various parts of a dart.
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Why are two parts of placket overlapped and made in double layers ?
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Calculate the extension of upper and lower parts of simple shirt placket.
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What is heat-setting ? Why is it done ?
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Define the term “uniform’. Give the purpose of using them.

frefeafiaa amdi =1 3E-%m 7 form TR @ foter Stan @ 2 €8 # wargd | 3
(31) wifsd HT3e i Hiad

(9) IABM Fog hHI @I

(|) e =g

How are following measurements taken on a dress-form ? Explain briefly :
(a) Side-seam of bodice

(b) Front hip-line

(c) Shoulder blade
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“A pattern carries some necessary information.” Mention any six.
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Briefly explain any three methods of adorning body.
OR

Differentiate between Roman and Greek cloak.
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What are the points to be considered before fitting a garment ?
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(a) What are the three waistlines in women’s one-piece dresses ?

(b)  What are the three silhouette variations in women’s bifurcated garments ?
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What is the criteria for designing clothes for new-borns, infants and toddlers ?
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List down the principles to be observed to achieve success with any garment. (any three)
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Explain the three steps of fabric preparation before cutting.
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What do you understand by the following terms ?

(a) Mauli

(b) Fibula

(c) Haik

(d) Cheentz

(¢) Chilta Hazaar Masha
OR

(a) Khaki

(b) Ushnisa

(c) Angarkha

(d) Kachcha

(e) Costume
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Applying your knowledge of dart-manipulation, convert a two dart bodice block into a

one-dart bodice block with neat labelled diagrams of the steps involved.
OR

Using measurement method, convert a two dart skirt block into one dart skirt block with

neat labelled diagrams of the steps involved.
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Explain the steps of construction of sleeve with neat labelled diagrams.
OR

Explain various steps of making a continuous placket with neat labelled diagrams.
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Describe in detail, the influence of fashion forecasting and trends on women’s wear.
OR

“The shirt is very important in the men’s wear wardrobe.” Describe the most important
features of a ‘Classic Shirt’.
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